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should indeed be greater than the minimum product of 1 4.
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ah = 0.866h. The product is > A, as it must be. Since the wave furiction is not a Gaussian, it
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Now plugging back in: C =1+ B = %—i;. Yo = [-g—l—s—]e il where k = -——;i—.
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6.25  This is not tunneling; the kinetic energy is never negative and the wave function between 0 and L is thus of the
form ¢** not ¢ . Therefore, we need only replace U, by —U, in the potential barrier reflection equation (6-13).
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6.26 As U, — oo, the term 4£[£+]J in the denominator approaches zero, leaving simply sine squared over sine
0 0

squared.
(b) As L — 0, the sine squared factor in the numerator approaches zero, while the denominator approaches the
presumably finite 4—5- £+]
Uy \U,
() If UpL is constant, then so is \JU,L, so that the product JUULJZ in the argument of the sine factors
approaches zero. The approximation sin x = x is then appropriate.
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Replacing £ + Uy by Uy and —= + 1 by I gives R 7 !
eplacing E + U, by U, and — y I gives R = = <
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